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Assessment Name : OPRB CBRE Warder- 28th Dec 2022-S1.-1(C),
# QUESTION
Subject: General English | Chapter: Set-4

I choose the corner table, seated myseltf and started skimming through the newspaper.

1
Q) The above sentence is a
A. Simple Sentence
v B. Compound Sentence
Options
G Complex Sentence
D. Wrong Sentence
QQ) She would not let me the letter.
JA. read
) B. reading
Options
C. to read
D. have read
Q@3 [ am young and strong, I?
A, amn't
) B. haven't
Options
v C. aren't
D. isn't

Q@ "Halt !" shouted the officer to his men. (Change into Indirect Speech)

A. The officer shouted to his men that they should halt.
) B. The officer shouted to his men that they shall halt.
Options . )
G The officer commanded his men to halt.
D. The officer shouted to his men that they will halt.

Q) I was very cold,

A. as [ was wearing my coat.
) v B. though | was wearing my coat.
Options )
C. and [ was wearing my coat.
D. but I was wearing my coat.
Q(6) A friend of mine phoned ~~ me to a party.
A. for invite
) B. for inviting
Options o
v C. to invite
D. for to invite

Q(7) | He stuck too his resolution.

Join Us-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World App WitsApp/Call- 8596976190

Here the underlined word means

A. solution of a problem
) v B. firm intention
Options
solution
D. determination.
Choose the correct antonym of
Q® . .
justice :
A. faint
B. depression
Options
v C. unfairness
D. captivity
QO The government intend to bring in a new regarding the sale of alcohol.
A. legislate
B. legislative
Options .
legislature
v D. legislation
Q(0) IfI you, I would buy this mobile phone.
A. was
) B. had been
Options
JC. were
D. am

The first telescopes built in the early 1600s were very primitive inventions allowing the user
to see around 3-times further than the naked eye. It was not too long, however, until Italian
astronomer Galileo heard about the invention “that through use of correctly-positioned lenses,
allowed people to see things a long way away. The tools used in the manufacturing of the first
refracting telescope were all Galileo needed to know and within 24 hours he had developed a
better one. In fact, the process of improvements Galileo made on Lippershey’s telescope was
quite dramatic. Whereas the original version had a magnification of 3, the new telescope had a

Q(11) magnification of around 30. Galileo achieved these extraordinary results by figuring out the
combination of the positions of the lenses and also by making his own lenses that were of
better quality. Although he originally thought they were stars, the better quality lenses — and
some scientific analysis — enabled him to eventually use his telescopes to see the moons of
Jupiter. Galileo’s refracting telescopes — so-called due to the way they handled the light that
passed through them — were the standard at that time.

When was the first primitive telescope invented?
A, Late 1700s
v B. Early 1600s
1709
D. 1609

Options

Q(2) | The first telescopes built in the early 1600s were very primitive inventions allowing the user
to see around 3-times further than the naked eye. It was not too long, however, until Italian
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astronomer Galileo heard about the invention “that through use of correctly-positioned lenses,
allowed people to see things a long way away. The tools used in the manufacturing of the first
refracting telescope were all Galileo needed to know and within 24 hours he had developed a
better one. In fact, the process of improvements Galileo made on Lippershey’s telescope was
quite dramatic. Whereas the original version had a magnification of 3, the new telescope had a
magnification of around 30. Galileo achieved these extraordinary results by figuring out the
combination of the positions of the lenses and also by making his own lenses that were of
better quality. Although he originally thought they were stars, the better quality lenses — and
some scientific analysis — enabled him to eventually use his telescopes to see the moons of
Jupiter. Galileo’s refracting telescopes — so-called due to the way they handled the light that
passed through them — were the standard at that time.

How many hours did it take for Galileo to develop an improved telescope?

A. Around 24 hours

B. Exactly 24 hours
Options
More than 24 hours

v D. Less than 24 hours

The first telescopes built in the early 1600s were very primitive inventions allowing the user
to see around 3-times further than the naked eye. It was not too long, however, until Italian
astronomer Galileo heard about the invention ‘that through use of correctly-positioned lenses,
allowed people to see things a long way away. The tools used in the manufacturing of the first
refracting telescope were all Galileo needed to know and within 24 hours he had developed a
better one. In fact, the process of improvements Galileo made on Lippershey’s telescope was
quite dramatic. Whereas the original version had a magnification of 3, the new telescope had a

Q(13) = magnification of around 30. Galileo achicved these extraordinary results by figuring out the
combination of the positions of the lenses and also by making his own lenses that were of
better quality. Although he originally thought they were stars, the better quality lenses — and
some scientific analysis — enabled him to eventually use his telescopes to see the moons of
Jupiter. Galileo’s refracting telescopes — so-called due to the way they handled the light that
passed through them — were the standard at that time.

How many magnification lenses were used by Galileo in the manufacturing of

telescopes?
A, Less than 30 lenses
B. Exactly 30 lenses

Options
More than 30 lenses

JD. Nearly 30 lenses

The first telescopes built in the early 1600s were very primitive inventions allowing the user
to see around 3-times further than the naked eye. It was not too long, however, until Italian
astronomer Galileo heard about the invention *that through use of correctly-positioned lenses,
allowed people to see things a long way away. The tools used in the manufacturing of the first
refracting telescope were all Galileo needed to know and within 24 hours he had developed a
better one. In fact, the process of improvements Galileo made on Lippershey’s telescope was
quite dramatic. Whereas the original version had a magnification of 3, the new telescope had a

Q(14) magnification of around 30. Galileo achieved these extraordinary results by figuring out the
combination of the positions of the lenses and also by making his own lenses that were of
better quality. Although he originally thought they were stars, the better quality lenses — and
some scientific analysis — enabled him to eventually use his telescopes to see the moons of
Jupiter. Galileo’s refracting telescopes — so-called due to the way they handled the light that
passed through them — were the standard at that time.

What enabled Galileo to see the moons of Jupiter through his telescope?
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A. Good quality lenses
) Scientific examination
Options
JC; Both A& B

D. None of the above

The first telescopes built in the early 1600s were very primitive inventions allowing the user
to see around 3-times further than the naked eye. It was not too long, however, until [talian
astronomer Galileo heard about the invention ‘that through use of correctly-positioned lenses,
allowed people to see things a long way away. The tools used in the manufacturing of the first
refracting telescope were all Galileo needed to know and within 24 hours he had developed a
better one. In fact. the process of improvements Galileo made on Lippershey’s telescope was
quite dramatic. Whereas the original version had a magnification of 3, the new telescope had a

Qa3s) magnification of around 30. Galileo achieved these extraordinary results by figuring out the
combination of the positions of the lenses and also by making his own lenses that were of
better quality. Although he originally thought they were stars, the better quality lenses — and
some scientific analysis — enabled him to eventually use his telescopes to see the moons of
Jupiter. Galileo’s refracting telescopes — so-called due to the way they handled the light that
passed through them — were the standard at that time.

What did Galileo wanted to know?

JA. Tools used in the making of a refracting telescope
B. How many magnification lenses was used
Options
BothA& B
D. None of the above
0 (16) Translate in to English:-
FSRIM ARIR0IQ 69 651 ARG FIF1 *R 2ILKE |
A. He was working with me since yesterday morning.
B. Since yesterday morning he was working with me .
Options ] ' ) )
JE. He has been working with me since yesterday morning.
D. Since yesterday morning he had been working with me .
o7 Translate in to English:-
81e Al6em 696 21T 6AARER ARER! |
A. The train reach the station at day-break.
B. The train reaches the station at day-break.
Options . .
J G, The train reached the station at day-break.
D. The train reaching the station at day-break.
Translate in to English:-
Q (18) o P
DTN 6T YMQ L6 2L ?
A. Which school of Cuttack do you will come here ?
) B. Which school of Cuttack did you come from?
Options

Which school of Cuttack do you come from?

D. Which school of Cuttack does you come from?
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Translate in to English:-

Q19 =
2I4sl 9 GIRC0IQ 1| IR 6EF |
A. The examination can be begin from next 6th.
B. The examination was begin from next 6th.
Options B _
JC. The examination will begin from next 6th.
D. The examination has began from next 6th.
Translate in to English:-
Q (20) ey
6@6LEIMOIR 64 66l QLR ?
A. Which long have he been sleeping for ?
o B. Which long has he been sleeping for ?
Options

How long have he been sleeping?
v D. How long has he been sleeping?
Subject: Odia Language | Chapter: Set-3
Q) GINYe 9% IR 6995 faoueilealia 9@ 689 9°64I569 106 g9 9 2

A. LEIFIQU
B. QéILd
Options o
W FEITR
D. QIAKIA
JQIDL6R gRls @l
Q®2)
Iga -
ik del G g
B. A 289
Options
C. 2y del
D. dda 2gq
) 09 9959 fU916 226TRIS 98 §'6 629 ?
A6RE
A. 2g6Re
/B. F86LS
Options
AS6RT
D. QeRe
il QALY FRSIR LYLIE 908 K9 |
Q% SOCIR G6R 6819 9AERIR T8 a9 QIF |
Options VA Q6Ua
B. [l
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g1
Qg
Q) SIFUER ARINEISE FRIR YT 68K0I6S 2
JA. aIQAERN
B. 65IF6R
Options .
661999 YR
D. %69
Q(6) 634171684162 AR TER I5° 9B 1t AR FIAR | - 921 69% IR FIFY ?
A. a4
B. a9om
Options _
@oR
vD. 6dlge
Q)  "ARIFA AN SIRE" - 9 QIYT 699 QIFU6R MG ?
A, adelgy
. B.  QgeIsY
Options
JE QULISY
D. QalQIsY
JRTERQ FEM @61 628 ?
Q®)
ek
JA. a8+ oa
B. o6 + o
Options _
(> Q@+ oL
D. Q+ a8
) QIR gS6Q g8 98 g2 |
(A) SUgR1 (B) 9d9a1 (C) 9ddd (D) eag1d
A. Sagal
J/B. I lal=y
Options L
2ol
D. g
Q(10) G9Z 6% G5 ‘RIS 01 RGP F¢' IT 26R YSLS 6TIRAN ?
Opuons( 5 2lemI 9g. 28 9198 26T QG

B.
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/C. QR ag R
D.  ¢aRIfsa sIRel

QAR AGERR O (52 AGRIQ SHG 99

" Listen, there goes the bell ! "

Q1)

A. g4, A4l QUG
B. g6, Q& QIFaIeR |
Options _
JC. g6, WG FIGE !
D. g€, 69 A4l Y6RRR |
R°AUR1 APERRR A0F 332 AQRUL SAT AR

2E Don't be hard upon anyone.
VA, QI QU6a S QIS 696112 QIF |
Q1] QU6 G AR 6 |
Q1] QU6 PG QIS 6QHIRM |

QIZ| QU6R KRS AU 6Q¢II2 FIT |

Options

AF6RET 1096 GI' 6 FAILIRNYS| gFYLa AaR, AFERS ARINER &2 |

FQUIRY QY ZIQRIFIR Y R | 90I6Q T4 AILRE FAULN, 951 SN | AI0YYLR
09 YQUIRAEA FIFIT F”I Q2N | AN, IFe, AI9TR, 6518q G2l 2T S8
QUER 1IG QLN | 9690, 656% F8Ig c1kl FQUIRAR JRIKY T2 | AR
QR4 ARIFIEE 690168 €0 OFE, QAT 998 | AT A861T AR _
QQYIeheI8 26ae 2949 7160 62Q2l RIdig 9AS GRQINE | FQUIRG SRIQ 867 QI |
QI9¢, IRLEPER 96656 A9gEIR SISl 2R 690169 2IElq 621G F1T | AT

Q(13)  SIGRILIFIER 2ILLIGR 6QERCIE GT6S | 622JAIR 69FlIRg QEFITNY JRI8 FUIS!
Q218 Qa1 | F181 699F YIEUE TIIR ARSI F1UI6A ATFS ATC A5E §6% | AATR
2161 9219 6417 A 6291 FRRIQ | TQUIRAE AAg 69610 I8 Y9 9od | dalg
AIFIRG J6eRISIEIR RT6m AFYR 6939 QI | 640169 2A68S IRIQ INVFNV TSRS
QIR6ER SIMAN | FQUIHg AVYS AUFER ITESIRG| DGER 6Q4IR B QEA AFPR KA
68 6I'g QUYS FAGLN | 9T RIQEIQ QUG FQUIRA A8 AAg Sg6R 2Ige
6LIR& |

FRUIRAER 690 gLRIR Si”l T2l ?

A. QQURAEA DI0YYLR QYRS 699R SRR SRl Q2N |

FQUIRGER QI0YZLR SY6TE FINRS. 9188, FIRdS, 6518 o2l 2Fe a9159
FR. e ]
Options SI” Q2N |

¢ SUIRAED TI0YYLR QYL1E 699R TS TRIHR S Q2N |

—— e

D.  GSQURALES QI0YYLSR QUSTE AINGR JI FaIaN Q1F |

Q4) | 219629F AI0SA 61 667 FAILINYS| FIIELN AR, AFERLT 2RNAER T |

FQUIRA QU AINNIFIR GG IR | 90169 FQUI 21208 AL, 661 @A | AI0YYLS
29 SQUIRYES FIRIT §81 GRIAN | 919159, 9I8S, FIRdS, 6518 el 2IFe §aId
QD69 AIG GRAN | 990G, 678 GaIg F’I FRUIRAER TRISY TR | AANIGD
agedia ARICIEE 690168 QIO 998, AEEYS SR8 | AL de6Is ARIER
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Geuidlicld 2696 A9AR FI60 6228 FIFUE IAS FRAINE | FeUIRG IR 865 AIF |
QIS¢ IRLEPER I65GET A9YER TRIE AR 6890160 iEle 621U FIX | 2GR
RISRIBIFIES 2IIITR 6S9RC18 FR6S | 62UIR 6AFIRT QREITNY| gelIe @QUDS!
GeIe 6al | 981 669R gAIFOE LR KSR IR AAG ARSI AFE g6 | ANTR
SR18 4919 6617 MY 6261 9K | TUIRLET A1F 6969 98 [ géQa | veIg
AAIES YEATSIR FR6M AFYD 68S QT | 690169 A6RF JRIR INVFNT FALES
QU6 SImeN | FLUIRIG QIS LIRER TIR6LIRS! BE6R Q4R 6 QER FIEPR GRS
Q68 21 QUYR ARG | I8 RI9EQ QAL SRUIRG F]I AF1g S¢6Q 2IQe
6QIRE |

699 Fll6S 6961 Aell6l 956S 2
JA. AR SSRISICNEE 2k FIR 694 TS 2068 |
B. AR FIRN6E 2D A 6541 16 6T |
AR RISESIFIES 694 Felld 2L |
D. AR 9RG1ICN6E 644 Qg Q6T |

Options

296897 QISR 81 P67 F2ALINLYSI YYEIN QAR AFERS ARINECR T |

FoUIRD §QU AIRNIRIR 99F IR | 90168 §QYI ZI2ad UL, 961 SRILN | gI0Ygee
29 SouRasa QIRIF Al GRIAN | SINEE, 9188, AIde, 6§18 g2l 2IFe Gal
QUER IS TN | 98GR, 6567 JIg £l TURAES RISY AN | AFIFD
gagesia dRIFIsS 690168 TI0 IS, ARG 168 | AINYAS Ae6ls Fa2lIsa
Squidiislel 26a9 AR 7168 6202SI HIdUg 24S SRAING | FUIRG F8IR S QIF |
RI9E. IRIFF6E I66GEY A9EEIR TqI8l 2A 67L0I6R AR (ARG GIF | AR

Q(15)  RIGRIIFIEE ALTIRR 6QACNE GRES | 622AIR 62CIGF QRATAY AT SR
Q2IG a1 | 81 679R gAIEUE TIR ART CAIER NG 92N AFE 96 | AIAFS
aqlel 9219 661RT AB 6291 0RMIR | TQUIRAT QY 60919 98 GG 964 | 1aIg
AIFITS YeUTSIR FT6R AFYD 629 AIZ | 69016 6RT IR ANVIGNT GRS
QULEA SIRAIN | §QYIZHIG AUYD QLA FTESIRTI BE6R 6240 B QIR IR AR
F6168 6I'g QUYS ST | 9T F106Q NNGR QYIRS F1I 9615 T¢6a 2gS
6219 |

QUACH FSURATN TN 2GS TG 2
AI0YgLR BF TQURUER FIRIG S8 GeIaN | I AIEQ ARG FQUIRAFA

A. .
Y 2T |
/B FQYIehg QUYS RISER FLECIRTI B6 694 6 QEIRQ FIePh AR F7I6S Sl
ot ' QYD SRG2AYN] | 9E RINEQ ANCR SRSV SR AIQS |
ptlons _ _ _ _ - _ _
- FINaQ, i8], F199e, 65189 G2l A FRI8 QU6 UIF TIMN | 9T FIQEQ
' QAEA FUIRAFTY g 2IQQ |
D AAIRR 9L ARIFIER 6D0I6Q DI0 UQE, QRS 66T | Y€ FIEQ WAL

SAUIRAER TR AIGE |

Q(6) | 206805 AI0SE €' 667 T2ININAS| FYEN QAR 2AFE]S ARINECR §2 |

QYR FQUI AIAUF IR IR IR | 90I69 FQYI AILRE KRN, 8% FQULAN | AI0YILR
Qg FRURA6R FIRIT Yl TRIAN | SRR, JIfie. AInde, 65184 G2l 2IFe FaIE
QUER I QAL | 999EY, 666a d3Ig F1¥ FRUIRAER JIRIIGY TN | AAIER
g6 ARIFIES 6910169 IO U968, VETYE 9168 | AIRYAe 9269 fR2lI6R _
QUG8 26RR RS €168 68@RR RIdig 9aQ FAURT | TR IR a7 FIT |
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@196, IRDEP6R I66YE Y A9gaa FaI4l 2Ia 6560I6R Ade caIRdIas! FIE | RN
SALRIGIFIEE AABIGR 606RcCIE §R6S | 6920IR 62FING QRATHY 91T SIS
221G A8 | 81 696R GrIFOE TIIR GRS F1:I68 TIPS A2 BFE g6d | AFR
Q15 9219 66T1RG AB 6261 GARIR | TURAT A6 6069 I8 §F 9ERE | 9aig
AIFIFS JERISISIRI AT6R AGYS 629 QIF | 690169 6RT JRIN AAINIGAIN GRS
RUFER SIREIN | FQUIEhg AAYS QLR TITETIRTI BP6R 6949 B FEIR FIFR KT
G162 BI'g RUYS FATALIN | I FINER ANGR FYIRE F9 elg Tg6R A
62IR& |

299¢ fIdug feyiRhad 29 aae 219G ?
A QQuEl Q191 8l KR2IER AR § A9S KRING |
B. QQuIchaIg AI04gLs RRZIEa 2994 fIdig 999 ARINE |
QQuIlIgI8 661RgRER A4S RIdig 9AQ QAU |
vD.  QQuIrhad Ingas 996419 @R2I6a A9ae fIdig 998 fRI8 |

Options

AFERLT AIOKA CI' B6R FAINNYS| JYYLLA AQR, 2AFERT ARIKER 2 |

QYIRS TQUI 2IARIFIN Y IR | Y016 T 2ILRd AU, B UL | DI0YYLR
OQ QUIRAEA QIFIT F8I T | SRR, DR, FAINDR, 6218 G2l TR SIS
QY6R I G | 909QQ, 656 F8Ig £ FQUIRLER JRIFY TN | AR
A9Q9IR IMIFIER 60162 CI0 09T, BRVIE 968 | AINYRS de6dis aRIeR '
SQuIheld deaq A4S F16a 62@2jSl QIdig a8 QRUINE | FUIRA SR §ag QIE |
IR, I9LEPER I685E I AQgdn Sals 2R 680169 A2 62IRAINS! F1Z | A1RR

Q7)) RISVIGIFIET AISIGR 6QFRIS @T6S | sﬁlemla 6279 QRATAY QI AT
F2IE aQQ | 491 689R FIFUE LIAM KRG F1U6R AEFS QLG @S as@ | AIege
QI8 9LIR 671RE MA 6291 QRRIN | TQUIRLE Al 6999 IS [ goQd | velg
ARG JeATHIR a@6m 2GYa 696 FIF | 690162 2687 RIS ANVIGNN 8T
QIRER SIMeN | FQUIZIG AUYS QN6 FRESIRAI BE6R 6948 B QEIA FIpPR GRS
Q168 QI AUYD SRR | 9T QIQEIQ NQLA FQUIRL, S8 Aelg TE6Q AIGE
6LIDE |

g0 66lRS MY K61 2

J A QUi I1ge Ga18 @ 919 661Ra A |
B. SQuIeln 6516 Sal8 @ FRIR 6671R0 A |

Options ~ S sy =
8 Sy aIede G919 @ d919 661Re AY |
D. Squieha glnae §q14 @ G919 661Re AL |
R°AUR AFERQ A0SR BT AR SR /A
Q(18) o
The plane is flying over / above the town.
A. RQPIRIELRT 9L QIR 69R LN 1
B. 9% QU 69R QIIRICIR T DS 1
Options _ _
JiC. QPIRIERE e QU 69R JIRE |
D. RQPIRIERE e QU 69R AR IS |
Q19 R°QUR1 AFERQR A0S 32 AGRIQ SLR a9

His leg was broken for he had been running along a mossy path .
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JA. QIR 6918 AT LIFAR FING 62 98 FaF 9F2SI QLR 6F1gAR |
B. Jaf 982Sl U6A SR ASIR SN 6918 AT AR |

Options o . .
96 din duQl QULICHIY LI 6911% WIPoImI |

D. 64 GCﬂQ 2RNQ LR 65llE QPR 62162 |

Q 20) R°QUWT 2AFERLR a0 6G2l 29QIQ QLG QN |
The old man used to take opium every evening.
JA. @@I@' QAU AVYIELER 2ITPel sliedml |

B. @@I@‘ 6Q6RER6R ARYIER6R 2TPel Sllaeiml 1

Options

C. 9QIT 696MES6R ARYICTER AT A& |
D. 91T USR ALYIESER 2ATPE Sl 1

Subject: General Studies and Computer | Chapter: 01-General science

Q (1) | While light is incident normally on a glass slab. Inside the glass slab,

A. Red light travels faster than other colours
) v B. Violet light travels faster than other colours
Options ]
C. Yellow light travels faster than other colours
D. All colours travel with the same speed

Q(2) | Memory is made up of

A. set of wires
) B. set of circuits
Options
JC. large number of cells
D. All of these
QB Which of the following devices interpret lines of different thickness that are mostly seen on
many products available in supermarkets?
A. MICR
) B. Graphic tablet
Options
S Barcode Reader
D. OCR

Q4 Japan is called 'land of the rising sun' because

A. Sun rises there as soon as it sets
B. Sun always remains in the eastern part of the sky throughout the day in Japan
Options JC; Japan being the Eastern- most country in the World, it has the earliest sunrise

D The rays of the sun get reflected from the waters of the sea and make the sunrise
) beautiful in Japan
Q5 A bomb is dropped at a point from a moving aeroplane. The pilot observes that

Options | 4, the bomb traverses a curved path and falls some distance behind that point
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JB. the bomb traverses a curved path and falls some distance ahead
C. the bomb drops vertically downward
D. the bomb remains stationary in the air for some time

Q (6) Neutral refactory material used in furnace is

JA. Graphite
B. SlOz
Options
C. CaO
D. MgO

Q (7)  The substance coated on plastic tape-recorder tapes is

A. zinc oxide
) B. manganese oxide
Options
. iron sulphate
D None of these
Q(8) A girl ate sweets while fanning the flies away. Due to this, she suffered from a disease
diagnosed as
A. kwashiorkar
B. tuberculosis
Options ) ]
C. diphtheria
JD. cholera
Q) Small programs that appear on sidebars of a webpage updates, currency rates, world clock,
etc. are called
A Widgets
B. Emoticons
Options
C. Icons
D. Screen Tools
Q (10) When computers in a computer laboratory of a school are interconnected , then such a
connection of computers is called
A. Internet
. v B. Local Area Network
Options

C. Wide Area Network
D. Metropolitan Area Network
Q (11) = Select the incorrect match.

A. World's fastest supercomputer - Sunway Taihulight
v B. Example of hard disk - Floopy disk
Options
C. Notebook - McBook

D. Search engine - Lycos
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The Chandrasekhar Limit is accepted to be approximately 1. 4 times the mass of the sun. A
Q (12)  star that exceeds this mass is destined to end its life in a most violent from of explosion. what
is it called when a star explodes in this manner ?

A. Red giant
B. Black hole
Options
C. White dwarf
JD. Supernova
Q (13) | Who among the following introduced the famous Persian festival of Navroz in India?
J A Balban
) B. Firoz Tughlaq
Options
C. Iltutmish
D. Alauddin Khilji

Q (14)  The medieval ruler who was the first to establish a ministry of agriculture was

A.  Alauddin Khilji

v B. Muhammed-bin-Tughlag
Options
C. Sher Shah
D. Akbar
The position of the Earth in its orbit, when it is at its greatest distance from the Sun causing
Q(15) . . i
summer in the Northern hemisphere is
A. Perihelion
v B. Apihelion
Options

Perigee
D. Apogee
Q (16)  Summer Solstice in the Southern Hemisphere occurs on

JA. 22nd December
B. 23rd September
C. 21st June
D. 21st March

Options

Q (17)  Environment Planning Organization is

A. CECRI
v B. NEERI
Options
C. ICAR

D. CEPHERI

Q (18) | Who elects the Vice-President?

Options A. The same electoral college which elects the President

B. Members of the Rajya Sabha
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JG An electoral college consisting of members of Parliament
D. Members of Parliament at a joint meeting

Q (19)  The per capital income has been low in India because

JA; of population growth
) B. of price rise
Options .
more people are in rural areas
D. of regional imbalances

Q (20)  The largest contribution in India's National Income is from

A, primary sector
) B. secondary sector
Options .
JC. tertiary sector
D. All of these

Q (21)  'Take off stage' in an economy means

JA. steady growth begins
) B. economy is stagnant
Options ]
economy is about to collapse

D. all controls are removed
Q (22) = The head of the Reserve Bank of India is designated as the
A. Chief Executive Officer
B. Managing Director
Chief Banking Ofticer
v D. None of these

Options

Q (23)  Which ruler started the construction of Konark Sun Temple :

A. Bhanu Deval

) B. Rajarajall
Options
Indravarman
v D. Narasimhadev
S : =
0 (24) Which is the Odisha state Tree"

VA Ashwathha
B. Sal
Options
Coconut tree

D. Chinar tree
Q (25) | Due to the effect of the Non-Cooperation movement on the plantation workers in Assam, they:

Options | /A, left the plantations and headed home.
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B. went on strike.
C. destroyed the plantations.
D. None of these

Q (26) | Who won Formula One Singapore Grand Prix?

A. Pankaj Advani
B. Michael Schumacher
Options
C. Michael Kors
v D. Sergio Perez

Q (27)  Defence Minister performed 'Shastra Pooja' at which Military Station?

A. Guwahati

) B. Jaipur
Options
o s Auli
D. Patna
Pangasius Icaria, which was recently discovered in the Cauvery River, belongs to which
QQ28) | ecies
pecies?
A. Crocodile
v B. Catfish
Options
C. Snake
D. Bird

Q(29)  Who won the Japanese Grand Prix 20227

v A Max Verstappen

) B. Lewis Hamilton
Options

C. Sebastian Vettel

D. Charles Leclerc

Q (30)  Which bank raised the minimum capital requirement for setting up ARCs to Rs.300 crore?

JA. RBI
) B. ADB
Options
C. SBI
D. Central Bank of India

Subject: Numerical Ability and Reasoning | Chapter: Reasoning Ability -Classification

In the following question, four pair of words are given, out of which the word in three pairs
bear a certain common relationship. Choose that pair in which the words are differently
Q@ related.

(a) Tree : Stem (b) Face : Eye (c) Chair : Sofa (d) Plant : Flower

Options | 4 Tree : Stem

B. Face : Eye
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i B Chair : Sofa

D. Plant : Flower
QQ) In the following question one term in the number series is wrong, Find out the wrong term.
11, 23, 50, 109, 234, 491
A. 50
B. 23
Options

JC. 491

D. 234

Q@) A boy was asked multiply a certain number by 25. He multiplied it by 52 and got his answer
more by 324 than the correct answer. The number to be multiplied was

A. 15
v B. 12
Options
18
D 23
The value of 1 + L
1+ -
Q)
1+
1+ .2.
3
A. 21/13
_ B. 17/3
Options
v C. 34/21
D. 8/37

Q5 The sum of all integers between 200 and 400 divisibly by 9 is

A. 3366

: v B. 6633
Options

C. 6336

D. 6363

0 (6) Five bells first begin to toll together and then at intervals of 3, 5, 7, 8 and 10 s. Find after what
interval they will again toll together. How many times does they toll together in one hour?

A. 14 min, 3 times

o B. 12 min, 4 times
Options

JC. 14 min, 4 times

D. 12 min, 3 times
Q) P's father's father is the husband of QQ's mother's mother. How is P related to Q?
Options | /4, Cousin

B. Sister
C. Brother
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D. Cannot be determined
Q@8 The greatest ratio between 2 : 3and 4 : 5 is
A. 2:3
v B. 4:5
Options
Cannot be determined

D. Both equal
Q) | 23% of 8040+42% of 545 = 7% of 3000

A. 56.17
Options | B. 63.54
v C. 69.27

Q (10) = The ratio of X% of Y to Y% of X is equal to

A, /XY
. B. XY
Options
XY
JD. 1
Q (1) Sam purchased 20 dozens of toys at the rate of Rs. 375 per dozen. He sold each one of them at
the rate of Rs. 33. What was his percentage profit?
A. 3.5
o B. 4.5
tions
: 5.6
D. 6.5

Q(12) | The average of first 52 consecutive even numbers is

A. 52
B. 53
Options ¢
51
D. 50

13 The expression (15r13 +6n2 + 5n +x ) /n, where x and n are integers, is not an integer for
Q3 | The g 4 i
which of the following conditions *

A. n is positive
. B. x is divisible by n
Options
X is not divisible by n
D. Both (a) and (¢)
Q (14) There are four prime numbers written in ascending order of magnitude.The product of first

three is 385 and that of last three is 1001.The first number will be
Options JA. 5
B. 7
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C. 11
D. 17

Q (15) @ Find the least number of girls,so that they can be arranged in the groups of 15 or 20 or 30.

VA 60
B. 90
Options
C. 45
D. 80

Q (16) @ 'Fire'is related to 'Ashes' in the same way as 'Explosion' is related to

A. Sound

JB. Debris
Options
C. Explosive

D. Flame

In each of the following question, there is some relationship between the two terms to the
left of '::" and the same relationship holds between the two terms to its right. Also, in
each question, one term to the right of '::" is missing. This term is given as one of the

Q17 alternatives, from the given alternatives below each question. Find out this term from
the given alternatives.

AZBY : BYAZ : : BXCW : ?
JA.  CWBX

B. CWDX
Options
C. BWXZ
D. BWWZ
Q(18) The cost price of an article is 40 % of the selling price. The percent that the selling price is of
cost price is
J A 250 %
B. 240%
Options
C. 60%
D. 40%

Two metals have their total weight equivalent to 60 kg.The first metal contains 10 kg of pure
Q (19)  copper and the second contains 8 kg of pure copper. What is the percentage of copper in the
first metal If second metal contains 15% more copper than the first ?

J A 25%
B. 22%
Options
C. 17%
D. 20%
Q (20) The simple interest on a sum of money is equal to the prinicipal and the number of year is

equal to the rate per cent per annum.The rate per cent is

()ptiOI']S A. 25%,
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B. 100%
G 10 %
D. 12%

Q@ A sum of money at compound interest amounts to thrice itself in 3 yr.In how many years will
it be 9 times itself ?

A. 9
B. 27
Options
JC: 6
D. 3

Ramesh walks 10 m Eastward, then turns right and walks 10 m. He then again turns right and

Q(22)  walks 10 m. He takes a 45° turn leftwards and walks straight. In which direction is he walking
now?

A. North-West

B. South-East
J C. South-West

D. North-East

Options

Mohan walked 30 m towards South, took a left turn and walked 15 m. He then took a right
Q (23) turn and walked 20 m. He again took a right turn and walked 15 m. How far is he from the
starting point?

A. 95 m
v B. 50 m
Options
70 m
D. Cannot be determined
Q 24) Introducing a man, Neeraj said. " His wife is the only daughter of my wife." How is
Neeraj related to that man?
A, father
) B. Grandfather
Options

JC. Father-in-law
D. Son

Q (25) 17,13, 20, 15, median is 'x' of the data, what is the value of x?

A. 14
v B. 16
Options
18
D. 19

Q (26)  What is the median of the first eleven even numbers?
Options JA. 25
B. 24
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C. 26
D. 1

Q (27)  What is the graph of the two equations with 2x +y =3 and 3x -2y =5 ?

J A, Cross each other

B. One and the same
Options

C: parallel to each other

D. uncross each other

For what values of t are there an infinite number of solutions to the two equations with tx + 3y
Q@28 _ _ 09
Oand3x +ty=10?

A. +V3
B. +14
Options
JC: +3
D. 6
Q (29) If each of 10 numbers with mean 10 is increased by 2, what will be the mean of 10 of the new
numbers?
A. 10
B. 11
Options
JC. 12
D. 14

Q(30)  x2+7x+12=0 What is the value of 1/p+1/q if the equations are a and f3 ?

A. -12/7
B. 7/12
Options
v 5= -7/12
D. 207
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